Qutline

1. Hydrostatic
pressure & force

2.. Arc lenghh.
3. Center of masc, .



1. _‘:\_\[c\ro s+aH;
~ Pressure

 PFPressure created by the
w-?.tgk’r of a still lizuu'd.

Density =&

Gravitational
 Acceleration

'DzP'H'\ = h

e A4 dep-"k h, pr'e.s;ur‘e
P=4&9h is exerted i all

| clmec-hons



e Second impod-an'l-
- formula

Pressure =  Force

Areq

Force = (Pre',.:.cure) (Acea)

goocl when
DresSfure Cond tant,

Example |

The wereck of the 1-1"'-403(
1S ot o deP-H\ of about
3790 m. _
'De_ns:-}y of seawater is l027

kg .




Circular PorH\ole has it
Center o+ a depfh of 3790,
and radius 0.5 m, o
(o) Calcula¥e pﬁe-.uore at
the center of perthele,

(b) Célcula-l'e force exerted
on porthele (F it is
hof"i 2ont=l(,
(¢) Calcul ate force exerted
on porthole vF iF is
Ver +ical.



SO’UHO(\
(a) Pressuce = (1027)(9.8) (3790)
= 33]44 834 N/m*

(b), Herizoaral . Consbant
 Porthole pressure,

Force = (FReitl%) ((area)
= (38144834) (x (05)*)
= 29958892.52 N

(c) Ver-\-lcal P(-g;;u,r'e vearies

| POr%O'& | as Yo.“ 30 ‘F'GM
of +he porthole,



y = vertical distance From
Center of poecthole.

Pressuce on skrip = (027)(3.9) (3790-Y)
Area oF Strip = 2 X dy

_ = 2 Jo5r—yT dy
| Force
= (102339 (: 3?70-)0 2 Jo5%-y? dy

SMP



65 -
= [ (Ioz?)(‘i.x)(ﬂ?o-y)(z) 05%y? -dy
=05 |

= 29915%882.5% N.

2. Arc Lc.na_-l;h__

® Length you get from
Strai 3h+em‘n3 a curve and
'"f-t o rc‘nj -+,

| 3&?@3 &
m

K— Arc leng+h



N lcnji-h \[1+ [”")T >

Exaﬂ"ﬂP"e

_ "'YPCrbO"‘ e

X* —y*=|
behoveen X= Z and X2 g .
with Y

: ' X .






